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Geudluilwer/ CHEMISTRY

(58 wppd wée @fl / Tamil & English Version )

ST yemey : 3.00 wenfl Gy | [ Qrgs wHIQuaTsET : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

Seyemraer : (1) Sieangg) elamés e efluns udeurd) 2 EeTST eTaTLISeaT FAUNTSEIS
Qamerareywb. sEsL LGN GemudmLGer, @iamns sarsrafiiiureTiLb
o | amgwines Gsfelssaib.

(2) P sidesy SGBUY  owwWoa LG TPSIGUSD D

<35CsM QausHGL LWETUGHSs Ceuam@b. UL RisET UMTUSD S
Quendled LwETLRSSEWD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@MUY : Cameuwrar GLsHd LLLb UMIHE), FWETUTHSMET CT(LPSa,Ld.

Note : Draw diagrams and write equations wherever necessary.

UGS - 1/ PART - I

&My () DTS @S]mn&&@és@tb elenL_wieflGseyb. 15x1=15
(i) Qar@ssiul Gerer wMHH efenL sl Wsed gHLenLw aleLews
CoibAs05a) @MU ()L e ailenuQenamyb Ceiigg erpsayLb.
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and corresponding answer.
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L. Quésefaflur urdwd o6 uwauRHDE-
(<=1) war s@HLESS (<) auell Hleurenf
(@) «fle f&d (m) o emitey 564
Milk of Magnesia is used as
(a) Tranquilizer (b) Analgesic
(c) Antacid (d) Anaesthetic

2. @n Cud deeiaiGurg Ceisstiu@b elmaGeus wrHM YaTaumauaTeuDmar
asaar LIHNLMLESDS ?

(=) eran_CpmAQ (<) <15 <yDDS
(Q) Sariey <y HmEd (FF) eraigmedLd

The addition of a catalyst during a chemical reaction alters, which of the following
quantities ?

(a) Entropy (b) Internal energy

(c) Activation energy (d) Enthalpy

3. anne Qapgrél Qeweqpmpuleany UAsEsHEs ILED 2 Consib :
(=) Cu (<=y) Al (&) Zn (F) Ni
The metal extracted by Hall-Heroult process is :

(a) Cu (b) Al () Zn (d) Ni

4. Qaneumesemaupyear 1.73 BM smpgs SGUUsApar wdldoar Qubnrars :
(<=1) [COC]6]4_ (<33) TiCly (@) [Cll(NI’I3)4]_+ (FF) [Ni(CN)_}]z_

A magnetic moment of 1.73 BM will be shown by one among the following :

(8) [CoCl ™ () TiCl, (@ [cu(NHy), ] @ [Ni(ON), >
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Gemeumeuameupmiar ergl sflwmsl QU"(fDﬁi;ﬂuchmg,] 2

(1) Byl - uafleplib

(<p) umedLod - Yo

(@) aalpoé sapsd-  B@ESIULL Gfid
() afl - QeuamQemTil

Which one is correctly matched ?

(a) Foam - mist

(b) Emulsion - smoke

(c) Sol - whipped cream
(d) Gel - butter

Qemeupeuanaupmier ereng Goidg@b Cung Epsar Aflemas soflane alenamuie

Qurg siwedl eleereneas 2 HaursEn ?

CH3COOH ) = CH3C00™ (o +H*

(<1) CH,COCI (<2) AgCl (@) CH,Cl

Which one of the following will cause common-ion-effect when added to the

following dissociation equilibrium reaction ?
CHscOOH(aq) = CH3C00™ g +H+(aq]
(a) CH4COCI (b) AgCl (c) CH,Cl

Coo aemp aumiiun@enw yiefefe o drer gL
(<=1) sp? (<) sp® (@) spd
Carbon atoms in Fullerene with formula Cgo have

(a) sp? (b) sp3 (c) spd
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8.

< Siqammipsafien @urgeumen 2500Cady Here :
(1) +4 () +2 (@) +6 (F) +3
The most common oxidation state of Actinoids is :

(a) +4 () +2 (c) +6 d) +3

sapm :  GQandav-4-marepliler -g anLepGamaw, el e :@{QJL&.GG?-]U_ILb
mant_ar@Lear elmariu@ss Ger frrpuEssrd danse-4-
rand -85 SOADS.

SMTEUTTLD : aLgGrmiyl oLd Sgilaiub ean’®r® @ Caibs 2(&8)
<2, @GLD.

(=1) Sapmy & YETED SMTETVID SaU.

(=) apmi, sTrewID Gram@ &fl, gparme sTrewid spoparear gflwmer
NETESHODE. ‘

(@) sapml, smrewid @ranHid ey

(%) @apmi, sryewd @rar@o &fl, Gogib srrewid sapdpsrer sflwrer
cllar&sLmELD.

Assertion : Hex-4-ennitrile on reaction with Di-isobutyl aluminium hydride
followed by Hydrolysis gives Hex-4-enal.

Reason : Di-isobutyl aluminium hydride is a selective reducing agent.
(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true, but reason is not the correct explanation
of assertion.

(c) Both Assertion and Reason ar¢ false.

(d) Both Assertion and Reason are true and reason is the correct explanation
of assertion.
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Yenaumeuaraupled erg smorm sdlielédhe, R epeotons LweTL®Hpg ?
(=1) Xe (<) Ar (®) Rn () Kr
Which of the following is used as the source of gamma rays ?

(@) Xe (b) Ar () Rn (d) Kr

S eapl ggen Waapeanier (SHE) emf whiiureang

(=) —1.0 (<) 0 (®) 1.1 (F) +1.0
The emf of Standard Hydrogen Electrode (SHE) is

(a) -1.0 (b) © (¢) 1.1 (d) +1.0

o Gaonsb fsparer @G@mpur(® sTearlLBbD Lgsb

(<) NaCl (<21) AgBr (®) AgCl () FeO
The crystal with metal excess defect is :

(a) NaCl (b) AgBr (c) AgCl (d) FeO

Gemeupeuaeundled eThg STy DNA -afley Geveney ?

(<=1) wyréle (<=,) Sig.aneuenn (@) s GLreser (F) Gauraarer
Which of the following bas.e is not present in DNA ?

(a) Uracil (b)  Adenine (c) Cytosine (d) Guanine

Qenaumeuamaupmier sraflwid QupdHrisaiar CrgCulLisalled oop adi
Qum@penmsLs LweL(Heug) eTgl ?

(=1) @ioggame (<) rGper-1, 2-aL.

(8) erégenmed () Hergymed

Which of the following compound is used as an anti-freeze in automobile radiator ?
(a) Methanol (b)  Ethane-1, 2-diol

(c) Ethanol (d) Glycerol

[ }@lelll-lx'ﬁ / Turn over
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15. giloaru siBearsd SICTTGLYS <6y amanHLar dAamaryfipg QsTOEGD

enen@Limmer :
(1) @fles smyid () sniursAalés Sifaib
(@) & GLmen () @CrrGoné oflawb

The product formed by the reaction of an Aromatic aldchyde with primary amines
is :

(a) Schiff’s base (b) Carboxylic acid

(c) Ketone (d) Aromatic acid

u@3 - II/PART - II

@MUY : aCseib omi clamésEnéE el wellésayb. el era 24 -&@ sL_L_muLons
elenLwaf&HayLb. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.
16. creiauns grgissmar ILTUNESs, Beorllsiuy wan gnng ? ss@msw
SNFESE@HES (M THSHESTDEET S(HS.

Which type of ores can be concentrated by froth floatation method ? Give two
examples for such ores.

17. AGanansaflen LwensmaT GT(HSIS.

Write the uses of Silicones.

18. gmaneays Comomisaller ML DI TELSMET GUMTILINIGSHALD.

Define the term central atom in co-ordination compounds.

19. FCC oio@s iy sramiu@d A@missallar aarafsmsomms sanss@s.

Calculate the number of atoms in an FCC unit cell,
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20. @ copflaw-amy @LaLsar Gamired ey 7

What is conjugate Acid-Base pairs ?

21, afaaiGausionpp piaser GTENIMITED Grauer ?

What are catalytic poisons ?

22. oALCLrmar ereucuny LGmIGUenTS WTHpieums ?

How will you convert acetone into propane ?

23. aDiGOMGIEET GrampITed GTaner ? e-Gryeurd S(ms.

What arc Hormones ? Give example.

24. Gemeuapd allenareuflenguled o arar A wHMID B Gambmisamers searL s,

CH3CH,NO, Sn/HCI A CI1,COCI B

Identify the compounds A and B in the following sequence of reactions.

CH,CHyNO, —SVHCL, 4 _ CHiGOC, 5

L@ - 111/ PART - III

@MY : gCH@ID m) efamés@ndy efenLiaésa|b. efe cramr 33 -&(@ SLLmuors
aflenLwafdsab, 6x3=18

Note : Answcrany six questions. Question No., 33 is Compulsory.

26. Sufegaqit CGymicy Quneii apampai Ul @RIl eueys.

Write a note on Figcher tropsch synthesis,

26.  amgamisdr, Dl eormii (e - Eoup e @WL_(BU_JLLIITGUT Goumiur@®ser

FCueid apetnlene LD,

N Write any three differences between Lanthanoids and Actinoids.

[ Hlewlins / Turn over
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27. [Pt(NO,)(H,0)(NHy),]Br aranp Dievamafley. (G eireumouamaipans samLps.
(1) oww 2 Gars olgn/weafl
(<) IETE| GTERT
(@) eww o Gors walufler &fpGapp e

For the complex, [Pt(NO,)(H,O)(NHz),]Br identify the following.
(a) Central metal atom/ion

(b) Co-ordination number

(c) Oxidation number of central metal ion

28. GamebGanriev Wer QrleL SiG&E uph GHUY amrs.

Write a note on Helmholtz electrical double layer.

29. Wenamd LEGSSD LUDHW .UTFGL elflsmen er(pgis.

State Faraday’s Laws of Electrolysis.

30. sell Lt Swall gander SimwlimUs SMHs.

Give the structure of a Zwitter ion.

31. asde 2f CLL L ereueumy TS A GLT S CLL s wrpmeumd) ?

How will you convert Ethylacetate into Ethylaceto acetate ?

32. e.ama ugal) QUIT(HLSET GTaTLMA! WTaal ? B® TOSEESTLO5ET (ms.

What are food preservatives ? Give two examples.

33. @O Ws6 cuans cllaanmeg 99% ;ﬂﬂﬂﬁ) 2 L w Cseneuwmer Crromang) =ieueianet
90% Manpeuan_wiH GCoanaiuimer Grpréamsts Cure Qram( WLRIE eTad SM_[Hs.

Show that in case of first order reaction the time required for the completion of
99% is twice the time required for the completion of 90% of the reaction.
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uEs - IV/PART . 1v
eIy : simensgy Sands@ich oL uMssaum. 5x5=25

Note : Answer all the questions.

34. (&) yessrionurisd ePPoS 86 TPsmsan AL Hafssab.

S{e0e0gy
(L)D) Caapnh Geotissild pyragsaaiar <158xCamp Boaaws
sl &sayb.
(1) OF, @ 1,0,

(i) CsSapw Qoassa wisd Qsais.
(1) P,+NaOH+H,0 —
(2) XeFg+H,0 —
(B8) Cu+a=s H,S0: =
(2) Esplain zone refining process with an example.
OR
(b} (i) Find the oxidadon state of Halogen in the following compounds.
(1) OF, 2 1,0,
(ii} Complete the following reactions.
(1) P,+NaOH+H,0 —
(2) XeF,+H,0 —

(3) Cu+conc. H,SO, —»
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35. (@) () @ GurGrafldan aigaimblieny efleuflssed.
(i) egHed GuGrl Gemgamanew erps)s.
LTI

(=) 2 Carss sriCuramadseid srariiu@b G@earlGear &aTenLsmar
efeuf&seyLb.

(a) (i) Describe the structure of Diborane.
(ii) Write ethylborate test.
OR

(b) Describe the nature of bonding in metallic carbonyls.

36. (1) el wHMD o ATTRIGD GpLThHsmar eleréEs.
360605
(=) () yBw elamernsE @ran® e-FTTETRISET S(HS.
(ii) Gsre ugal@sed wHmL @ruur Asmflcdld smpLR&E 6reiaTm)
vweru(hdmg ?

(a) Explain Schottky and Frenkel defects.

: OR
(b) (i) Give two examples for zero order reaction.

(ii) How colloids are used in tanning of leather and in Rubber
industry ?

37. (=) peveural -Bisse efgssman saTurl e euHed&Ese, .
TNV
(@) ()  efieSen nfd Agrit dlmanse o udeudlome. e ?
(i)  eoperdr-2-eperd-6 iy surissuu@ang ?
(a) Derive an expression for Ostwald’s Dilution Law.
OR
(b) (i) Why aniline does not undergo Friedel Craft’s reaction ?

(i) How ny]on—2-ny10n’6 is prepared ?
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hseanding engmi Sani) OTDmE | sons Grgijz;Jng sunfissu@ans ?
() Ganin's anpi_anydy agmiism Deanemepy umidl A GHOY ass.

21Nz

(«21,) CoH0 aramp eumisciam’oni— 2ot Grinnin (A) p®flena FeCl, -2 én eamgm

(a)

(b)

Mwdenmi mamMmgy. Crinoib (A) MDCioneAusmay_an cflananyfitzs (B) erenm

Cafingenpuibp, Guogub Zn -gresdr e yfigy (C) erenp Csiwsensuib
sl A, B, C Gomprismenen samtilisg) eflenonsener TS

(i)

How Malachitegreen is prepared from Benzaldehyde ?
(i)

Write short note on Thorpe nitrile Condensation reaction.
OR

Compound (A) of molecular formula CeHgO gives purple colouration with
necutral FeCl,, Compound (A) reacts with ammonia to give Compound (B)

and it also reacts with Zn dust to give Compound (C). Identify the Compounds
A, B and C and write down the equations,

-00o0-
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